Total No. of Questions: 5] SEAT No. :

P6807 [5801] - 701 [Total No. of Pages: 2
S.Y.B.Com.
2113: BUSINESSCOMMUNICATION
(2013 Pattern) (Regular)

Time: 3Hourg] [Max. Marks: 80
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicates full marks.

Q1) Definetheterm * Soft-Skills' . Explain the elements of soft skills. [16]
OR

What is barriers to communication? Explain the types of barriers to
communication.

Q2) Explain the functions and essential qualities of good businessletters.  [16]
OR

Explain the principles and importance of business communication.

Q3) @ Writean application letter to recruitment officer, C.G. Co. Ltd. Mumbai
for the post of Marketing Executives. [8]

OR

Draft an office order to Yash Shinde, Pune from Darshan medilab
Co. Ltd. Bagalkot for transferring his service at Kolhapur branch.

b) Write arequest letter for credit information to credit manager, Sadhana
Bank, Mumbai on behalf of Dhangjay Electronics Ltd. Ahmednagar. [8]

OR

Write a complaint letter to Seema Soap Co. Ltd, Ratnagiri for shortage
of goods on behalf of Mohan Traders, Mashik.

PT.O.



Q4) Describethevarious sourcesof social mediaNetwork with meritsand demerits.
[16]

OR
What are the characteristics of Press Release.

Q5) Write short notes (Any Four). [16]
ad Importance of Varbal communication
b) Advantagesof written communication
c) Contents of biodata
d) Meritsof Downward communication
e) Types of speaking.
f)  Officecirculars.

A A
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Total No. of Questions : 4] SEAT No. :

P7273 [Total No. of Pages : 7
[5801]-702
S.Y.B.Com.
CORPORATEACCOUNTING

(2013 Pattern) (2123)

Time: 3Hourg| [Max. Marks: 80
I nstructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Useof calculator is allowed.

Q1) A) Fill in the blankswith the appropriateterm from the given options
(any five) : [9]

1)  Accounting Standard 10 deals with
(Accounting for Fixed Assets, Accounting for Amal gamatl ons)

i)  In Company Final Accounts Bonus paid to employees is shown
under

(Other expenses, Empl oyee Benefit Expenses)

i)  The lawyer appointed by the court for executing process of
liquidation of a company is known as

(Liquidator, Notary Public)

Iv) A company holding more than 51% or more shares in another
company is known as
(Subsidiary Company, Holding Company)

v) Liquidation of one company and no formation of anew company is
known as

(Externd Reconstructlon Absorption)

vi) Under Intrinsic Value Method, Value of one equity share =
Funds available for Equity Shareholders +
(Net Assets, Number of Equity Shares)

vii) Voluntary return of shares by the shareholders to the company is
known as

(Share Surrender, Share Forfe|ture)

PT.O.



B) Sate whether the following statements are True or False. [9]

)  Accounting Standard 21 (AS - 21) deals with Preparation of
Consolidated Financial Statements.

i) Loans taken by mortgage of an immovable properly are known
Secured Creditors.

i) Under Company Final Accounts Debenture Interest paid is treated
as a Finance Cost.

Iv)  Computerized Payroll Accounting System ensures faster and more
accurate cal culation of employee wages.

v) Under Amalgamation of companies there is Liquidation of two
companies and no formation of a new company.

vi) Goodwill of the company does not have any effect on the value its

Equity Share.
vii) Internal Reconstruction resultsin the liquidation of the company.
C) Write short notes on (an two). [14]

)  Advantages of Computerized Accounting.

i)  Difference between External and Internal Reconstruction.
i)  AS- 6 - Depreciation Accounting.

Iv) Factors affecting the Valuation of Shares.

Q2) S& SLtd. wasregistered with an Authorized Capital of sharesof Rs.70,00,000
divided into Equity shares of Rs. 100 each. [10]
You are required to prepare a Statement of Profit & Lossfor the year ended
31% March, 2019, as per revised Schedule VI of the New Companies Act 2013.
DO NOT PREPARE THE BALANCE SHEET.
RECORD ONLY ONE EFFECT OF THE ADJUSTMENTS, DO NOT
RECORD THE SECOND EFFECT.

Debit Balances Amount Credit Balances Amount
Stock on 01.04.2018 2,70,000 | Sdes 20,10,000
Purchases 11,70,000 | Purchase Returns 30,000
Sdaries 60,000 | Miscellaneous|ncome 60,000
Sales Returns 60,000
Wages 3,30,000
Rent paid 24,000
Printing and Stationery 30,000
Electricity Charges 24,000
Commission on Sales 39,000
Miscellaneous Expenses 15,000
Legal Charges 21,000
Bank Charges 12,000
Advertisement 45,000
Carriage Outwards 51,000
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Adjustments:

A)
B)

C)
D)

A)

B)

Q3) A)

Stock as on 31.03.2019 was Rs. 1,90,000

Provide depreciation on Plant and Machinery Rs. 15,000 and Furniture
Rs. 7,000
Advertisement of Rs. 5,000 was prepaid
Outstanding Wages Rs. 50,000 and Outstanding Rent Rs. 6,000
OR

Sunil Ltd., Pune purchased a CNC Machine on 01.04.2018 for
Rs. 25,00,000 for which the following expenses were incurred :

Carriage Rs. 45,000

| nstallation expenses Rs. 35,000

L oading and Unloading Rs. 15,000
The estimated life of the machine is 8 years and its estimated realizable
value at the end of itsuseful lifeis expected to be Rs. 90,000.
Calculate the amount of annual depreciation to be charged under Fixed
Installment Method.
On 1% April, 2018 Shri Pipes Ltd., Nashik purchased a plot of Land for
Rs. 80, 00,000. The following additional expenses were incurred for the
Land:
Cost of Land leveling Rs. 1,00,000
Stamp Duty and Registration Fees  Rs. 4,80,000
Other legal Charges Rs. 2,00,000

Cost of Demoalition of Old Building Rs. 1,25,000
Calculate the Cost of Land to be shown in the Balance Shest.

Excelair Ltd. went into voluntary liquidation as on 31% March, 2019 on
which date their Balance Sheet stood as under : [12]

Liabilities Rs. AsSsets Rs.

Share Capital Land 3,00,000

12,000, Equity Shares of Rs. 100/- 9,00,000 |Mant & Machinery| 6,90,000
each Rs. 75/- paid up

6,000, 7% Preference Shares

of Rs. 100/- each 6,00,000 | Patents 1,80,000
4% Debentures (having floating Stock 1,65,000
charge on al assets) 3,00,000 | Debtors 3,30,000
Outstanding Interest on 4% Debentures| 12,000 | Cash 90,000
Sundry Creditors 4,38,000 |Profit & Loss 4,95,000

22,50,000 22,50,000
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The preference share dividend was in arrears for two years and the
arrears are payable on liquidation as per the articles of company.

i)  Sundry Creditors include preferential creditors of Rs. 48.000 and
secured loan of Rs. 1,50,000 against mortgage of Land.
i) Theassetswererealized asfollows:
Particulars Rs.
Land 3,60,000
Plant & Machinery 5,25,000
Patents 1,65,000
Stock 1,80,000
Debtors 2,40,000
IV)  Theexpensesof liquidation amounted Rs. 10,000 and the liquidator
isentitled to aremuneration of Rs. 3% on all assetsrealized plus2%
on amount distributed to the unsecured creditors including the
preferential creditors.
v) TheLiquidator made all payments on 30" September, 2019.
B) Following are the Balance Sheets of Big Ltd. and Small Ltd. as on
31% March, 2019. [14]
Liabilities BigLtd. |Small Ltd.| ~Assts [BigLtd. [SmallLtd.
ShareCapital Goodwill 1,50,000| 50,000
(Shares of Rs. 100/- each) | 25,00,000(10,00,000 [Machinery {18,30,000| 6,80,000
General Reserve 3,75,000( 75,000 [Stock 4,50,000{ 2,25,000
Profit & Loss Alc 3,55,000(-1,50,000 |Debtors 7,37,500( 3,07,500
Creditors 4,55,000| 1,42,500 |Cash 87,500 67,500
Bills Payable 50,000 Investment | 4,80,000
(6,000 shares
of Small Ltd.
at cost)
Bills Receivable 37,500
37,35,000| 13,67,500 37,35,000| 13,67,500

Other information :

1)
i)

ii)

V)

Big Ltd. acquired shares of Small Ltd. on 1% April, 2018.

On 1% April, 2018 the General Reserve of Small Ltd. showed a
balance of Rs. 15,000 and the Profit and Loss A/c showed a credit
balance of Rs. 50,000

The Debtors of Big Ltd. include Rs. 15,000 due from Small Ltd.
Bills Receivable of Small Ltd. includes Rs. 25,000 accepted by Big
Ltd.

You are required to prepare the Consolidated Balance Sheet of Big Ltd.
and itssubsidiary Small Ltd.
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Q4) Following isthe Balance Sheet of SuryaLtd. ason 31% March, 2019.  [20]
Liabilities Rs. Assets Rs.

Share Capital Goodwill 6,50,000
Equity Shares of Rs. 100/- each| 26,00,000| Freehold Property | 19,50,000
General Reserve 6,50,000| Plant & Machinery| 10,79,000
Profit & Loss A/c 2,60,000( Stock 4,55,000

5% Debentures 13,00,000| Bills Receivable 58,500
Creditors 3,25,000( Sundry Debtors 3,57,500
Bills Payable 65,000| Cash 6,50,000
52,00,000 52,00,000

Surya Ltd. was absorbed by Narayan Ltd. on the following terms :

A)

B)
C)

D)

A)

Narayan Ltd. to take over assets of Surya Ltd. (except cash) at the
following valuations:

Freehold Property Rs. 20,00,000, Plant & Machinery Rs. 11,00,000, Stock
Rs. 4,50,000, BillsReceivable at book vaue, Sundry Debtors Rs. 3,00,000
and Goodwill at Rs. 2,50,000.

Narayan Ltd. also took over al liabilities of SuryalLtd. at book value.

Narayan Ltd. agreed to discharge the purchase consideration in 24,000
equity shares of Rs. 100 each and the balance in cash.
SuryalLtd. paid its realization expenses Rs. 25,000.
Show the cal culation of Purchase Consideration and prepare Realisation
A/c, New Company’sAlc, Equity ShareholdersA/c and Cash A/cinthe
books of SuryaLtd. and pass the opening journal entriesin the books of
Narayan Ltd.

OR
Following is the Balance Sheet of Rahul Ltd., Ahmednagar as on
31 March 20109. [10]

Liabilities Rs. Assets Rs.

Share Capital Goodwill 2,10,000

(20,000 Equity Shares of

Rs.100/- each) 20,00,000 | Business Premises | 13,50,000

General Reserve 10,10,000 | Machinery 11,00,000

Profit & Loss A/c 5,40,000 | Furniture & Fixtures 90,000

Trade Payables 12,00,000 | Trade Receivables | 13,75,000

Stock in Trade 5,25,000

Cash 1,00,000

47,50,000 47,50,000
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Additiona Information:

)

ii)

The Assets were valued as under :
Asset Rs.
Goodwill 2,50,000
Business Premises 14,25,000
Machinery 9,00,000
Furniture & Fixtures 1,00,000
Trade Receivables All weregood
Stock in Trade 5,50,000
The Net Profit of the company for the past four years were as under:
Year Rs.
2015- 16 8,25,000
2016 - 17 8,90,000
2017 -18 10,10,000
2018- 19 11,75,000

It isthe Practice of the company to transfer 20% of profit to Genera
Reserve each year.

The fair return on investment in a similar industry in which the
company is engaged is 20%.

Calculate the value of each equity share under

ad Intrinsic ValueMethod

b) YieldVaueMethod

c) FarVdueMethod

B) Following isthe Balance Sheet of Yash Ltd. ason 31 March, 2019.[10]

Liabilities Amount Ass Amount
ShareCapital Goodwill 1,75,000
10,000, Equity shares of Rs. 100/- each | 10,00,000| Buildings 3,75,000
8% Preference shares of Rs. 100/- each| 7,50,000 | Machinery 8,75,000

Patents 50,000
General Reserve 25,000 Debtors 6,00,000
5% Debentures 7,50,000| Stock 2,00,000
Creditors 5,00,000| Cash at Bank 12,500
Preliminary expenses 52,500
Profit & Loss Alc 6,85,000
30,25,000 30,25,000
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The company got the following scheme of Capital reduction approved
by the court :

) 8% Preference sharesshall be converted into 9% Preference Shares
the amount being reduced by 40%

i)  Equity sharesto be reduced to fully paid shares of Rs. 50 each.
i) Building was appreciated by Rs. 1,25,000

V) 5% Debentures to be reduced by 40%

v) All Intangible and fictitious assets to be written off

You are required to pass the necessary Journal entriesin the books Yash
Ltd. and prepare the revised Balance Sheet as on 1% April, 2019.

VVVV
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Total No. of Questions: 5] SEAT No. :

P6808 [Total No. of Pages: 4
[5801]-703

SY. B.Com.
BUSINESS ECONOMICS (MICRO)
(2013 Pattern) (2133)

Time: 3Hourg| [Max. Marks: 80
I nstructions to the candidates:

1) All questions are compulsory.

2) Figurestotheright indicate full marks.

3) Draw neat diagram wherever necessary.

Q1) Explain methods of National Income Accounting. [16]
02) Explain significance and limitation of macro economics. [16]
OR

Explain process and limitation of multiple credit Creation of commercial
Banks. [16]

03) Answer in brief :
a)  Explain the causes of Deflation. [8]

b) Explain the limitation of classical theory of output and employment.[8]

OR
a)  Explain the scope of public finance. [8]
b) Explain the Quntitative measures of credit control. [8]
04) Explain the keynesion Theory of employment. [16]

PT.O.



Q5) Write short notes on (any two) :

a)
b)
C)
d)

Explain causes of Inflation.

Explain cash Balance Approch.

Explain the various phases of Trade cycle.

Types of Taxation.

u|mim

[5801]-703 2

[16]



Total No. of Questions: 5]

P6808 [5801]-703
SY. B.Com.
BUSINESS ECONOMICS (MICRO)
(2013 Pattern) (2133)
(TSt ®UTR)

de : 3 ad] [ BT 7707 : 80
gear: 1) @ gy siHa.
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Total No. of Questions: 5] SEAT No. :

P6809 [Total No. of Pages: 4
[5801]-704
SY.B.Com. (Regular)
BUSINESSMANAGEMENT
(2013 Pattern) (2143)
Time: 3Hoursg| [Max. Marks: 80

I nstructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Define‘Professiona Management’. Explainthe characteristicsof Professional
Management. [16]

OR

Define* Management’. Explain the functions of Management.

Q2) Define‘Planning’. Explain thetypesof Planning. [16]
OR
Define* Organisation’ . Explain the Principles of Organisation.

Q3) Define‘Direction’. Explainthe Principlesof Direction. [16]
OR
Define‘ Staffing’ . Explain theimportance of Staffing.

Q4) Define‘Motivation’. Explain theimportance of Motivation. [16]

OR
DefineLeadership’ . Explain the essential qualities of L eadership/L eader.

PT.O.



Q5) Write short notes on (Any Four) : [16]
a) Processof Rationa Decision Making.
b) BusinessEthics.
c) Disaster Management.
d) Departmentaization.
e) Management of Change.

f)  Corporate Social Responsibility.

® % %
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Total No. of Questions: 5]

P6809
[5801]-704
SY.B.Com. (Regular)
BUSINESSMANAGEMENT
(2013 Pattern) (2143)
(TS FATR)
Je ; 3 am] [Tegor 7707 - 80
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Total No. of Questions: 5] SEAT No. :

P6810 [Total No. of Pages: 4
[5801]-705

S.Y. B.Com. (Regular)
2153 : ELEMENTS OF COMPANY LAW
(2013 Pattern)

Time: 3Hourg| [Max. Marks: 80
I nstructions to the candidates:

1) All questions are compulsory.

2) Figurestotheright indicate full marks.

Q1) Define "Company". Distinguish between Private and Public company.[16]

02) State the meaning and Defination of forfeiture of shares. Explain in detail
the procedure of forfeiture of shares and effects of forfeiture of shares.[16]

OR

Define "Memorandum of Association," Explain various clauses of

Memorandum of Association of company. [16]
03) a) Explain the legal position of Director in company. [8]
b) Explain the concept "E-filing." [8]
OR
a) Explain the duties of company secretary. [8]

b) Distinguish between whole Time Director and managing Director.[8]

04) What is Meeting? Explain in detail the formalities of valid meeting. [16]

PT.O.



Q5) Write short notes on (Any Two) :

a)
b)
C)
d)

Amalgamation and Reconstruction.

Duties of Directors.
Registration of Company.

Meetings of share holders.

u|mim
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Total No. of Questions: 5]

P6810 [5801]-705
SY. B.Com. (Regular)
2153 : ELEMENTS OF COMPANY LAW
(2013 Pattern)
(TSt ®UTR)
de : 3 ad] [ BT 7707 : 80
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Total No. of Questions : 5] SEAT No. :

P6811 [5801]-706 [Total No. of Pages : 4

S.Y. B.Com.
2213 : BUSINESS ADMINISTRATION -1
(2013 Pattern) (Special Paper - I) (Regular)

Time: 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Define Management. State different functions of management. [16]
OR

Define Joint stock company. Explain the merits and demerits of joint stock
company.

02) Explain different factors affecting selection of plant location. [16]
OR

What is business environment? Explain constituents of business environment.

03) a) Explain role of Government in promotion of SEZ. [8]
b) Explain the factors affecting productivity. [8]
OR

a) Explain the procedure of registration of a company.

b) Whatis social responsibility? State the social responsibilities of business
towards customers.

PT.O.



04) Explain the causes and consequences of industrial sickness.

OR

Explain different techniques to boost productivity.

Q5) Write short notes. (Attempt any 4)

a)
b)
C)

d)

Business Process Outsourcing (B.P.O.)
Public Private Partnership (PPP)
National Productivity Council
Globalization

SEZ (Special Economic Zone)

Quality Circles

363636
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Total No. of Questions : 5]

P6811
[5801]-706
S.Y. B.Com.
2213 : BUSINESS ADMINISTRATION -1
(2013 Pattern) (Special Paper - I) (Regular)
(WISt FUTR)
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Total No. of Questions: 5] SEAT No. :

P6812 [Total No. of Pages: 2
[5801]-707

SY.B.Com.
BANKINGAND FINANCE
Indian Banking System
(2013 Pattern) (Regular) (Special Paper - 1) (2223)

Time: 3Hourg] [Max. Marks: 80
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

Q1) Explainthe structure of banking systemin India [16]
Q2) Explain the progress and performance of foreign banks. [16]
OR

Expalin therole of State Bank of India.

Q3) a) Statethe objectives of NABARD. [8]
b) Statethefunctions of Regional Rura Banks. [8]

OR
a Statetherecommendation of Narsimham Committee-11 (1998). [8]
b) Distinguish between scheduled and non-scheduled banks. [8]
Q4) Explainindetail the functions of Reserve Bank of India. [16]
Q5) Write short notes on (Any Two) [16]

a) Didtrict central co-operative banks.

b) Principles of co-operation.

c) Management of Non-Performing Assets (NPA'S)
d) Roleof Micro Finance.

VOOV
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Total No. of Questions: 5]

P6812
[5801]-707

SY.B.Com.

BANKINGAND FINANCE
Indian Banking System

(2013 Pattern) (Regular) (Special Paper - 1) (2223)
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Total No. of Questions: 5] SEAT No. :

P6813 [Total No. of Pages: 2
[5801]-708

SY.B.Com.
2233: BUSINESSLAWSAND PRACTICES- |
(2013 Pattern) (Regular) (Special Paper - 1)

Time: 3Hourg] [Max. Marks: 80
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

Q1) Explainthefollowingtermsunder ‘MaharashtraAgricultural Produce Marketing
(Regulation) Act, 1963. [16]
a Coolee.
b) CommissionAgent.
c) Market committee.

d) Retail sales.
Q2) Define the term ‘insurance’. Explain the importance and Basic principles of
General Insurance. [16]
OR

Explain theterm fireinsurance. Describethe procedure of settlement of claims
of fireinsurance.

Q3) @ Explain the machiner’s for settlement of disputes under the Industrial
DisputesAct, 1947 [8]
b) Statethefeatures of partnership under the Partnership Act, 1932.  [§]
OR
ad Describethe principles of “Marine Insurance Policy”.
b) Statethedifference between lifeinsurance and fireinsurance.

Q4) Define the term ‘ co-operative society’ under the Maharashtra Co-operative
Society Act. 1960 and explain itsfeatures. [16]

Q5) Write short notes on: (Any Two) [16]
ad Featuresof Marine Insurance.
b) Corporate socia responsibility of private insurance companies.
c) Disoluation of partnership firms.
d) Strikes and lockouts.

VOOV

PT.O.



Total No. of Questions: 5]

P6813
[5801]-708

SY.B.Com.
2233 BUSINESSLAWSAND PRACTICES-|
(2013 Pattern) (Regular) (Special Paper - 1)
(TS FUTR)
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Total No. of Questions: 5] SEAT No. :
P6814 [Total No. of Pages: 2
[5801]-709
SY.B.Com.

2243 : CO-OPERATION AND RURAL DEVELOPMENT
(2013 Pattern) (Special Paper - 1)

Time: 3Hours] [Max. Marks: 80
Instructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

Q1) ExplaintheHistory of co-operativelegidationinindia [16]

Q2) Explainthe provision of Maharashtra State Co-Operative Society Act - 1960,
Amendment upto 2013. [16]

OR
Explain the need and objective of Multi-State Co-Operative Society Act.

Q3) @ Explain the scope and objective of Rural Development. [8]
b) Explaintheimportance of Panchayat Raj System. [8]
OR
a) Explainthe problemsof District Central Co-Operative Banks. [8]
b) Statethe effects of Globalization on Rural Development. [8]

Q4) Explain the thoughts and work of Karmaveer Bhaurao Patil about Rural
Devel opment. [16]

Q5) Write short note on (Any two): [16]
a Importance of Rural Development.
b) Meritsand Demeritsof Globalisation.
c) Development Strategy of ‘Model Village'.
d) Limitationsof Panchayat Ra] System.
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Total No. of Questions: 5] SEAT No. :

P7476 [Total No. of Pages: 4
[5801]-710
S.Y.B.Com.
COST ANDWORKSACCOUNTING
(2013 Pattern) (Special Paper-I) (2253)

Time: 3Hours] [Max. Marks: 80
Instructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

3) Useof calculator is allowed.

Q1) A) FillintheBlanks. [9]
1)  Milk usedindairy product is the example of material.
1)) accounting shows only the overall performance of the
business
i) Haulageisan item of overheads
IvV) Separation, Replacement and are the three important
methods of measuring labour turnover.
v) In method of pricing, closing stock is valued at the
current price paid.
B) Statewhether the following statementsaretrue or false [5]

)  Cost+Profit=Sales is the equation of costing

i)  Continuous stock taking is a part of Perpetual inventory
i)  Bincard isaso known as bin tag or stock card.

IV) Purchase order is prepared by the stores department

v)  Under piece wage rate system the workers are paid on the basis of
unit of output.

Q2) Define ‘Cost Accounting’. State the objectives and limitations of Cost
Accounting? [15]
OR
What is Time Keeping? Explain the essentials of Time Keeping. Distinguish
between Time keeping and Time Booking.

PT.O.



Q3) Write short note on any three

a)
b)
c)
d)
€)

Q4) A)

Cost centre and Cost Unit
ABCAnaysis

Classification of cost on the basis of Behaviour.

Merit rating
Job Analysis

[15]

The following information has been obtained from the Accounts of
Dashrat ManufacturersLtd. for the year ending 31% December, 2021[15]

Particulars Amount (RSs.)
Stock of materialson 1-1-2021 16,720
Materials purchased 25,900
Bad debts written off 910
Travellers Salaries and commission 1,078
Depreciation on officefurniture 42
Rent, rates, taxes and insurance (Factory) 1,190
Productive wages 17,640
Director’s fees 840
General expenses 476
Gas and water (Factory) 168
Travelling expenses 294
Sales 70,000
Manager’s salary (2/3 factory, 1/3 office) 1,500
Depreciation on plant and machinery 1.820
Discount allowed 406
Repairs to plant and machinery 623
Carriage outward 602
Direct expenses 1,001
Rent, rates, taxes and insurance (office) 280
Gas and water (office) 56
Stock of materialson 31-12-2021 8,792

Prepare a statement of cost showing:
) Materialsconsumed

i)  Prime cost

i) Factory cost

Iv) Cost of Production

v) Total cost

[5801]-710 2




B)

Q5) A)

From the following information calculate the Maximum Stock Level,

Minimum Stock Level. [9]
«  Normal consumption 300 units per day
«  Maximum consumption 420 units per day
«  Minimum consumption 240 units per day
«  Re-Order Quantity 3600 units per day
« Délivery period 10 to 15 days
«  Normal Delivery period 12 days
OR

The annual demand for the product is 6400 units. The unit cost isRs. 6
and inventory carrying cost per unit per annum is 25% of the average
inventory cost. If the cost of procurement (ordering cost) is Rs. 75,
determine. [5]

«  Economic order quantity
«  Number of orders per annum

Thefollowing transactionstook placerelating to Material X during January

2021: [10]
Date Particular Quantity (Kg.) Rate per unit (Rs.)
Jan. 02 Received 2,000 10

Jan.06 Received 300 12

Jan. 09 | ssued 1,200 --

Jan. 10 Received 200 14

Jan. 11 | ssued 1,000 --

Jan. 22 Received 300 15

Jan. 31 | ssued 200

You arerequired to write up the Stores L edger Account under thefollowing
methods - FIFO; LIFO Method.

OR

From the following data for the year ended 31% March 2021, calculate
the Inventory Turnover Ratio of material X and material Y. State which

oneisfast moving. [10]
Material X (Rs) Material Y (Rs.)
Opening stock as at 01.04. 2020 90,000 1,00,000
Purchases during the year 2,70,000 4,00,000
Closing Stock as at 31.03.2021 1,10,000 1,20,000

[5801]-710 3



B) From the following information relating to 26" May 2021 in a factory
working for 8 hrs. Calculate for each of these works. [10]

Total earnings per day under

)  Straight piece rate method

i)  Halsey premium method

i)  Rowan Premium method
Hourly rate of wages Rs.4

Time allowed for 10 units 1 Hour.
Actual output for aday of 8 Hrs.

Ganesh 80 units
Raesh 100 units
Suresh 120 units

OR

The number of workers in Sunshine Industries, at the beginning of the
month was 1367 and at the end of the month was 2633. During the
month 72 workers were terminated and 08 workers died. 60 workers
were newly appointed during the month. You are required to calculate
thelabour turnover rate under Separation, Replacement and Flux method.

[10]

HAK
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Total No. of Questions : 5] SEAT No. :

P6815 [Total No. of Pages : 4
[5801]-712

S.Y.B.Com. (Regular)
2273 : BUSINESSENTREPRENEURSHIP (Paper - 1)

(2013 Pattern)

Time: 3 Hours] [Max. Marks: 80
I nstructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Definethe concept of Entrepreneurship? Explainindetail the competencies of
Entrepreneur. [16]

OR
Explain the Entrepreneurial career of Karmaveer Bhaurao Petil, Satara.

Q2) What is Social Responsibilities? Explain the Social Responsibilities towards
all stakeholders. [16]

OR
What isinnovation? Explain the steps of innovation.

Q3) @ Explainthe advantages and disadvantages of Social Audit. [8]
OR
Explain the Nature and Scope of Self Help Groups.
b) Statetheadvantagesand limitationsof franchising. [8]
OR

State various Entrepreneurial opportunitiesto service sector inrural aress.

Q4) What is Group Entrepreneurship? Explain therole of Group Entrepreneurship
in Indian Economy. [16]

OR

What is|nternational Entrepreneurship? Distinguish between International and
Domestic Entrepreneurship.

PT.O.



Q5) Write short notes (Any Four) : [16]
a Importance of Wealth Creation.
b) Toolsof Creativity Development.
c) Barriersof Social Responsibility.
d) Barriersto Entrepreneurship.
€) Importance of Corporate Governance.

f)  Problemsof Unemployment.

VVVV
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2273 : BUSINESSENTREPRENEURSHIP (Paper - 1)
(2013 Pattern)
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Total No. of Questions: 5] SEAT No. :

P6816 [Total No. of Pages: 3

[5801]-713
SY.B.Com.
MARKETING MANAGEMENT

(2013 Pattern) (Special Paper - |) (Regular) (2283)

Time: 3Hourg| [Max. Marks: 80
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto the right indicate full marks.

Q1) Define Marketing Management. Explain in detail the various Marketing
M anagement Philosophies. [16]

Q2) What isMarketing Environment? Explain thetypes of Marketing Environment.
[16]
OR

What isMarketing communication? Describein detail the elementsof Marketing
Communication Mix.

Q3) @ State theadvantagesof E-Marketing. [8]
b) Describethestrategiesfor Online Marketing. [8]
OR
a Explainthefeaturesof Rural Marketing. [8]
b) Discussthechallengesbefore Rural Marketing. [8]
Q4) What is Consumer Behaviour? Explain the factors influencing Consumer
Behaviour. [16]
Q5) Write short notes (Any Two) : [16]

a) Features of Services.

b) Roleof Marketing Manager in Green Marketing.

c) Principles of Success of Green products in market.
d) StagesinBuying Decision.

® % %
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Total No. of Questions: 5] SEAT No. :

P6817 [Total No. of Pages: 4
[5801]-714

SY. B.Com.
AGRICULTURAL AND INDUSTRIAL ECONOMICS
(2013 Pattern) (Special Paper - |) (2293)

Time: 3Hourg| [Max. Marks: 80
I nstructions to the candidates:

1) All questions are compulsory.

2) Figurestotheright indicate full marks.

Q1) Explain in detail the importance of Agriculture in Indian economy. [16]

02) Explain the peculiarities of Agriculture as sector of economy. [16]

OR

Explain in detail factors affecting on supply of Agricultural Produce. [16]

03) a) Explain the importance of farm management. [8]
b) Explain the Scope and significance of Industrial economics. [8]
OR
a) Explain the factors affecting on optimum size of firm. [8]
b) Explain the types of diversification of firm. (8]
04) Explain in detail weber theory of Industrial location. [16]

PT.O.



Q5) Write a short notes on (any two) :

a)
b)
C)
d)

Concept of plant, firm and Industry.

Traditional approach to theory of firm.

Industrial Integration.

Industrial Productivity.

u|mim
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Total No. of Questions: 5] SEAT No. :

P6818 [Total No. of Pages: 4

[5801]-751
T.Y. B.Com. (Semester - |11)
BUSINESS REGULATORY FRAMEWORK (M. LAW)
(2013 Pattern) (Regular) (3113)

Time: 3Hoursg| [Max. Marks: 80
I nstructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) What is*Acceptance of proposal’ ? Explain the legal rules asto acceptance of
proposal. [16]

Q2) Definetheterms*Partnership’ and ‘ Limitated Liability Partnership’. Distinguish
between Partnership and Limitated Liability Partnership. [16]

OR

Define ‘unpaid seller’. Explain therights of unpaid seller under sale of Goods
Act, 1930.

Q3) @ Explainindetail the features of Consumer Protection Act, 1986. [8]
b) Explaintherightsand obligations of apatentee. [8]
OR

c) Explainthe composition and objectives of Central Consumer Protection
Council.

d) Explain the objectives, programmes and activities of World Intellectual
Property Organisation (WIPO).

P.T.O.



Q4) What is ‘ Endorsement’ ? Explain kinds of Endorsement. [16]

Q5) Write noteson (Any two) : [16]
a Minor’'sAgreements.
b) Lega issuesinvolved in E-contracts.
c) Conciliation proceedings.
d) Characteristics of copy right.

Q000
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T.Y. B.Com. (Semester - I11)

BUSINESS REGULATORY FRAMEWORK (M. LAW)
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Total No. of Questions: 4] SEAT No. :

P7252 [Total No. of Pages: 7
[5801]-752

T.Y.B. Com. (External/Regular)
ADVANCEDACCOUNTING
(2013 Pattern) (3123)

Time: 3Hours] [Max. Marks: 80
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto right indicate full marks.

Q1) @ Answerthefollowing (Any fiveout of 7): [10]
)  Explain Short Sales.
i)  AS-15Employee Benefits.
i)  Importance of Ratio Analysis.
Iv) Explain Types of Branches.
v)  WhatisContingent Liability?
vi) Explain the advantages of Double entry system.
vii) Explain Current Ratio.

b) Short Notes (any two): [14]

1)  Consumer Co-operative Society.
i)  Need for Branch Accounting.
i)  Financial Statement Analysis.
Iv) Classification of Investments.

v) Introduction of Banking Company.

PT.O.



Q2)

FollowingistheTria Baanceof Shalimar Bank Ltd. ason 31 March2015: [14]
Tria Baance

Particulars Debit Rs. | Credit Rs.

Premises|ess Depreciation 3,70,000

Money at Call & Notice 4,30,000

Furnitureless Depreciation 60,000

Depreciation on Bank Assets 22,000

Non Banking Assetsacquired in settlement of Claims | 40,000

Cash in Hand 6,00,000

Cash at Banks 5,00,000

Investments 7,00,000

Loans, Cash Credit and overdraft 25,30,000

Interest on Deposits and Borrowings 4,00,000

Audit fees 9,000

Salaries and Allowances to Staff 81,000

Directors Fees 8,000

Postage and Telegrams 2,700

Printing and Stationery 7,400

Other Expenditure 4,900

Interest and Discounts 7,35,000

Share Capital

Authorised 15,000 equity shares of Rs. 100 each

| ssued and Subscribed 12,000 equity shares of 12,00,000

Rs. 100 each fully paid

Statutory Reserve 2,40,000

Deposits 25,00,000

Provident Funds 2,70,000

Borrowingsfrom MahargjaBank 5,10,000

Unclaimed Dividend 8,000

Commission and Exchange 75,000

Profit on Sale of Non Banking Assets 2,400

Profit and Loss Account as on 01/04/2014 2,24,600
57,65,000 | 57,65,000

[5801]-752 -




Adjustments:

a)
b)

c)

d)
€)

f)

Provide Rs. 20,000 for Bad and Doubtful Debts.
Billsfor collection amounted to Rs. 2,10,000.

Acceptances, Endorsements and Other Obligations amounted to
Rs. 1,04,000.

Provide Rs. 3,000 for Rebate on Bills discounted.
Provide Rs. 21,000 for taxation.

Postage stamps of Rs. 320 and stationery of Rs. 1,400 was in hand on
31/03/2015.

Prepare Profit and Loss Account for the year ended 31 March 2015 and
Balance Sheet as on that date as per Banking Regulation Act.

OR

From the following Trial Balance of Udyaya Co-operative Purchases and
Sales Society Ltd. as on 31/03/2015 prepare Trading Account, Profit and
Loss Account for the year ended 31/03/2015 and Balance Sheet as on that
date after consideration the adjustment given thereafter.

Trial Balance ason 31/03/2015

Particulars Debit Rs. Credit Rs.
Share Capital 1,68,000
Reserve Fund 30,000
Creditors for Purchases 20,000
Profit and Loss Account 01/04/2013 8,000
Profit for the year 2013 - 2014 80,000
Opening Stock 1,96,000

Furniture and Equipments 62,000

Container Deposit 16,000

Sundry Debtors 30,000

Saaries 1,50,000

[5801]-752 3



Commission 44,000

Rent and Taxes 23,000

Postages 4,000

Travelling and Conveyance 9,000

Printing and Stationery 7,000

Dividend paid 7,900

Admission fees 1,000

Purchases 31,70,000

Coolie charges, freight, cartage 80,000

|nvestments 1,20,000

Sales 38,10,000

Cash in Hand 2,100

Bank Balance 2,00,000

Development fund 4,000
41,21,000 41,21,000

Other Information:

a)
b)
c)
d)
€)

f)

9)
h)

Closing Stock in valued at Rs. 2,20,000.

Outstanding Rent Rs. 2,000.

Commission payable Rs. 10,000.

Rs. 4,000 salary was paid as advance as on 31/03/2015.
Provide for Audit fees Rs. 8,000.

The Society declared 5% Dividend onitspaid up capital ason 31/03/2014
for theyear 2013 - 2014. The society transferred 25% of itsprofit for the
year ended 31/03/2014 to Reserve fund and also transferred Rs. 4,000 to
Devel opment fund approved in the general meeting held on 31/10/2014.

Accrued Income on Investment Rs. 10,000.
The Directors recommend 10% Dividend for the current year.

Provide 10% Depreciation on furniture and equipments.

[5801]-752 4



Q3) @ On 15" September 2014, the premises of Snow White Ltd. were
destroyed by fire and a stock of Rs. 6,000 was salvaged and retained by
the insured. The business books and records were saved from which the

following information was obtai ned. [8]
Rs.

Stock on 1% April 2013 50,000
Stock on 31%March 2014 70,000
Purchases for the year ended 31 March 2014 4,74,000
Salesfor the year ended 31 March 2014 6,00,000
Purchases from 1% April 2014 to 15" September 2014 1,50,000
Salesfrom 1% April 2014 to 15" September 2014 2,05,000

In valuing the stock as on 31 March 2014 Rs. 4,000 had been written
off certain stock having cost Rs. 9,000.

Half of these goodswere sold in July 2014 for Rs. 5,000. The balanceis
estimated to be worth the original cost. Subject to the above exception
gross profit had remained at the uniform rate. On 14" September 2014
goods worth Rs. 4,000 had been received by the godown keeper but
had not been entered in the purchases account. Show the amount of the
clam.

b) H Traders has a branch at-Shahapur, goods are invoiced to branch at
Cost Plus 50%. Branch remits all cash received to head office and all
expenses are met by head office. From the following particulars prepare
necessary ledger accounts on Stock and Debtors System to show the

profits earned at the branch. [14]
Particulars Rs.
Stock on 01/04/2021 invoice price 9,300
Debtors on 01/04/2021 6,800
Cashin Hand on 01/04/2021 100
Goods Invoiced to Branch, Cost Price 34,000
Sales at Branch

1) Cash 25,010
2) Credit 31,000
Petty Cash Remittances to Branch 400
Cash Received on Ledger Accounts 30,400
Goods Returned by Credit Customers 1,200

[5801]-752 5



Q4)

Goods Returned by Branch to Head Office, Invoice Price 1,500
Actual Petty Expenses by Branch 370
Allowances to Debtors 400
Goods Trandferred from Shrirampur Branch to Shahapur Branch | 2,100
Bad Debts written off 600
Shortage of goods 450
Discount Allowed to Customers 200
Rent and Taxes 3,000
Salaries and Wages 2,000
Advertisement 400
Interest charged on the overdues of Credit Customers 1,000

From the following Balance Sheet of X Itd. cal culate the following ratios-[20]
ad Current Ratio
b) LiquidRatio
c) Debtto Equity Ratio
d) Gross Profit
e) Net Profit
Balance Sheet as on 31% March 2022

Ligbilities Amount | Assets Amount
Equity Share Capital 10,00,000 | Goodwiill 5,00,000
6% Preference Share Capital | 5,00,000 | Plant and Machinery | 6,00,000
General Reserve 1,00,000 | Land and Building 7,00,000
Profit and Loss 4,00,000 | Furniture 1,00,000
Provision for taxation 1,76,000 | Inventories 6,00,000
BillsPayable 1,24,000 | BillsReceivable 30,000
Bank Overdraft 20,000 | Sundry Debtors 1,50,000
Sundry Creditors 80,000 | Bank 2,00,000
12% Debentures 5,00,000 [ Investment (Short Term)| 20,000

29,00,000 29,00,000

Other Information:

a)
b)

c)

Total Sales- 60,00,000
Gross Profit - 30,00,000
Net Profit - 15,00,000
OR
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Mr. Y maintains his books by Single Entry System. His Cash book for the
year ended 31% March 2015 was asfollows:

Summary of Cash Book

Rs. Rs.
To Balance b/d 12,300 | By Investments 2,000
To cash sales 8,700 By Y’sDrawings 6,500
To Debtors 35,700 | By Purchases 7,300
ToBillsReceivable 15,300 | By Creditors 28,900
To Interest 1,500 By BillsPayable 7,500
To Y’s Capital 10,000 | By wages 17,300
To Balance C/d 3,730 By Carriage Inwards 1,350
By Postage 550
By Salaries 12,000
By Rent and Taxes 930
By Insurance 700
By Printing and Stationery | 2,200
87,230 87,230
Particulars of Assetsand Liabilitieswereasfollows:
01-04-2014 31-03-2015
I nvestments 15,000 17,000
Stock 13,700 29,300
Debtors 21,000 25,000
BillsReceivable 14,000 18,000
Creditors 31,000 29,000
BillsPayable 7,000 9,000
Plant and M achinery 45,000 42,500
Furniture 3,500 3,100

Other Information -

ad A provision of Rs. 1,250 was necessary on Debtors for doubtful debts.
b) Outstanding wageswere Rs. 1,500 and Outstanding Salary was Rs. 700.
c) Insurance was paid for one year ending on 30" September 2015.

d) AnAdvertising Bill was payable amounting to Rs. 400.
You are required to prepare Profit and L oss Account and Balance Sheet ason

31% March 2015.

[5801]-752
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Total No. of Questions : 5] SEAT No. :

P6819 [Total No. of Pages : 4

[5801]-753
T.Y. B.Com. (Regular)
3133 : ECONOMICS
Indian and Global Economic Development
(2013 Pattern)

Time: 3Hoursg| [Max. Marks: 80
I nstructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate total marks.

3) Draw neat diagrams wherever necessary.

Q1) Explainindetail constraintsin agriculture development in India [16]

Q2) Definebalanceof payment. Explain India sbalance of payment since 1991.[16]
OR

Comparison of the Indian economy with developed economy.

Q3) @ Explaintheroleof thelndustrializationin economic development. [8]

b) Write importance of basic infrastructure in economic development of

India. [8]

OR
a Explain concept of Human Devel opment Index. [8]
b) Write objectives of World Bank. [8]

Q4) Define foreign capital. Explain the role of foreign capital in economic
devel opment. [16]

PT.O.



Q5) Write short notes (Any 2) : [16]
a Evaluation of Industrial policy 1991
b) Roleof public sector in infrastructure devel opment
c) Human Poverty Index
d) World Trade Organization

PP ir
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Total No. of Questions : 5]

P6819 [5801]-753
T.Y. B.Com. (Regular)
3133 : ECONOMICS
Indian and Global Economic Development
(2013 Pattern)

(WISt TUTR)

3e : 3 ard) [Tkt 7707 - 80
gaar: 1) e 99T ATEvaeh JiTEd.

2) IEiwEt siek gut 1T gVifaard.

3) Siravas @ Bl gaek S el

4) GRHETS Y FTSA HyTalAenT urgra.

gy7 1) ORATdie It faehETdie TS Al T &, [16]
gy 2) AdgRare e gan. 1991 urhen WA SHagRaiel €98 . [16]
feman

AR T {ahiem ey gt .

v 3) 1) onide fashmTder sfigarTichieRtuTI=t HiHehT TIE . [8]
)  WRATSA Siich ferehTdier Gorve wrend gioeie wew forg. [8]
feman
) T P9I HeheuT T . [8]
q)  niaes sdee sgeied fora. [8]

g 4) Tt wisaeTe SweE g, e femdiet faestt wisaeren iHen wg . [ 16]

3 PT.O.



g7 5) o fomn. (e 2)

) 1991 = SitgEities SR YoawToH
F)  urEnya glauren e e e it

®) uFel gige P

¥) TINIdeh SAUR |Ee

PP ir
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Total No. of Questions: 5] SEAT No. :

P6820 [Total No. of Pages: 4

[5801]-754
T.Y. B.Com. (Regular)
ECONOMICS
Inter national Economics
(2013 Pattern) (3143)

Time: 3Hoursg| [Max. Marks: 80
I nstructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Draw diagrams wherever necessary.

Q1) What islnternational Economics? Explainthe scope of International Economics.

[16]

Q2) Explainthe Heckscher-Ohlintheory of International Trade. [16]
OR

Explain the factors affecting terms of trade. [16]

Q3) @ Explainthe current and capital account of Balance of Payments. [8]
b) ExplaintheAdvantagesof Foreign Exchange Market. [8]
OR

c) Explaintheobjectivesof North Atlantic Free TradeAgreement (NAFTA).
[8]

d) Writeanoteon ‘European Union'. [8]

Q4) Explainin detail the motivesand effectsof International Labour Migration.[16]

P.T.O.



Q5) Write short notes on (Any two) : [16]
a) Baance of Payment Theory.
b) Concept of Balance of Trade.
c) Meritsof fixed exchangerate.

d) Euro-Dollar Market.

Q000
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Total No. of Questions: 5]

P6820
[5801]-754
T.Y. B.Com. (Regular)
ECONOMICS
| nternational Economics
(2013 Pattern) (3143)
(TS T UTR)

de . 3ad] [ @egor 707 : 80
geqr ;1) @d gy qistan AEvas e,

2) SEiREIeT 37k Ty qul U7 FIitedrd.

3) ITEYHE T [SHIU IHTHET FIET.

4) @RwlATEt gob FASH T9 TAHT TET.
goal) AR e WU i ? S ST s e . [16]
gp72) R - 3iiger I s SR fovgens fagia e w0 [16]

feren

IR TeieR THTS UTSUTR Tk I . [16]
gg73) ) THEER dicATeA die] ST Wigael Wi faveron . [8]

F) wWEE SRR IR e WY w4 [8]

feren
) area (NAFTA) <t 3fee we . [8]
9) gt wgeE o feu e, (8]
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gg74)  siftreRTem STARIE TATRTE 3 9 TRUTH T8 .

Te75)  edisw du foergt (KTt 3N)
) R A fager.
¥) AURAI TehedHl.
%) R fafm g

g) U TR IR

Q000
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Total No. of Questions: 5] SEAT No. :

P7258 [Total No. of Pages: 8
[5801]-755
T.Y.B.Com.
3153: AUDITING & TAXATION
(2013 Pattern)
Time: 3Hoursg| [Max. Marks: 80

I nstructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) What ismean by auditing? Explain the classes of audit [16]
OR

a) Explaintypes of Audit Reports [8]

b) Explaintheprovisionsof Indian companiesAct regarding the appointment

of company Auditor [8]

Q2) Write short notes on (any four) [16]

a Audit Programme

b) Types of errors

c) Objects of Vouching

d) Advantagesof Internal check

e) Problemsencountered in EDP Environment
f)  Vauation & verification of fixed assets

Q3) @ Definethefollowingterms. [8]
) Person
i)  Agricultural Income
i) Short-term capital gain
V)  Assessment year
OR

PT.O.



b)

Compute the Income from House property of Mr. Kaefor theA.Y. 2022-23

Particulars House | (Rs) House Il (Rs.)
Municipa Vdue 180000 336000
Fair Rent 214000 350000
Standard Rent 186000 345000
Annua Rent 198000 360000
Unrealised Rent 6000 150000
Municipal Tax Paid 18000 33600
Interest on Capital 40000 156000
Nature of House Property Let Out Let Out

Following is the Profit and Loss Account of Mr. Sudhir, Pune, for the

FY.2021-22: [8]
Dr. Profit and L oss Account Cr.
Particulars Amount | Particulars Amount
Rs. Rs.
ToSdary 1,65,000 | By Gross Profit 4,20,000
To Rent and Taxes 60,000 | By Commission 42,000
To Commission 11,000 | By Sundry Receipts 4,200
ToAdvertisement 15,000 | By InterestonFixed Deposit| 35,000
ToR.D.D. 8,000 | By Giftfromafriend 2,900
To Depreciation 22,000
To Conveyance 8,400
To Stationery 15,200
ToBonuspaid 16,000
To ContributiontoR.PF| 12,500
To Contributionto PPF.| 13,000
To Interest on Capital 12,000
To Net Profit 1,46,000
5,04,100 5,04,100
2
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Additional Information
1)  Depreciation allowable under theAct isRs, 18,000

i)  Rentandtaxesinclude Rs.8,000 as property tax on residential house
of Mr. Sudhir.

i) Advertisement includes Rs. 12,000 as cost of permanent sign board,
fixed on the premises.

IV)  Sundry receipts of Rs.4000 are in respect of recovery of personal
loan given to afriend and 200 isinterest on the same.

You are required to compute taxable income from business for the A. Y.
2022-23.

Q4) Mr. Amar, an accountant of ABC Ltd. Has provided you with the following
details of his salary of the previous year 2021-22. Compute the net salary of
theA.Y. 2022-23 [16]

Basicsdary Rs. 2,40,000

Dearness Allowance - 50% of Basic salary (part of salary)

House Rent Allowance Rs. 12,000
Helper Allowance (actual expenditure Rs. 10,000) Rs. 12,000
Education Allowance Rs. 6,000
Free Gas and Electricity Rs. 2,400
Free Telephone at Residence Rs. 9,000
Leave Travel concession (no journey undertaken) Rs. 6,400
Contribution to R.PF. by the employer. Rs. 24,000

Mr. Amar has two daughters and one son, studying in school. Mr. Amar is
staying in arented house by paying arent of Rs,2,500 p.m.

[5801]-755 3



Q5) Mr. Santosh Sathe has given the following particulars for the financia year
ending on 31.03.2022 : [16]

Gross Salary Rs.8,03,000

Profit from Business Rs.1,50,000

Interest on Government Securities Rs.3,800

Dividend received from Indian Company Rs.5,600

Income from House property Rs. 15,000

He paid professiona Tax Rs.2,500 and Income Tax Rs.50,000

He paid Rs. 10,200 for LI1C premium, deposited in PPF Rs. 10,000

Invested Rs. 5,000 in National Savings Certificates and made F.D. for 5
yearsin State Bank of India Rs.50,000

Compute the Total Taxable income and Tax liability of Mr. Santosh Sathe for
A.Y.2022-23

[5801]-755 4
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[5801]-755
T.Y.B.Com.
3153: AUDITING & TAXATION
(2013 Pattern)
(AT EUTR)
[ @z 7o - 80
qd gy SAfard smEd.

ITEAHSIA 37 Ul 0T FoHard.

v 1)

97 2)

97 3)

JTeheIUT TEUTH hTel ? 3TeheluTTel TR T8 1. [16]

H)
=)

feran
JTREITT HEATATS ThHR TAY L. [8]
YR U SHITETTHR U 3TheTehTea FHUTH Haell aiget @E &4, [8]

ofrgerrma fou ot (g =mw) [16]

=)

JTRETUT hISHA

ECiDReCa

Tt ThEAUT 3EEN

3TA AUTEUTTe WS

3. 210, ufkferdia steheruTma umr=n auen
R AT geaie fon T

Wi HeheuAT T8 A [8]
) e
i) e veam
i)  STeUwIEN Wigael TE
iv) R Feior ad
feran
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off. e T F e a¥ 2022-23 |t 7 Husi 3w Hel.

qagiet W 1 W, 2
HERRUTCTRT et 180000 336000
EISEIR S 214000 350000
UM W12 186000 345000
i W 198000 360000
JFETEAS TS 6000 150000
HETITTOTeRT SR SRET 18000 33600
WTETATER ST 40000 156000
TR HieTH Ty UTSdcaTeR UTSdcaTeR

) off. g, ot = anfdes 2021-22 Trdte AR ST diet Wi WieieTs= ot

IR, [8]
T ST reT W

qusiter T B quie = B
TR 1,65,000 Breles TH 4,20,000
TS FAToT o 60,000 Eatekic 42,000
Eatkie 11,000 fafay o= 4,200
UG 15,000 Hea iR =t | 35,000
A F. 8,000 fimmersa W2 2,900
TE 22,000
eI 8,400
LEAE 15,200
Gl 16,000
NG UE, e ANEH 12,500
G @, vl AEE 13,000
WISTATER ST 12,000
fresres T 1,46,000

5,04,100 5,04,100
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rfafvera wifee
) e g 9ea €. 18,000 Wik 3.

i) w2 anfur wme of PR wreen A sEdier wremmn 9 wguE . 8000
T TR,

ji)  <mrer Ffm Feren wrmEREdt Trga g fhua 5. 12,000 FuR Sfgrde
TS 31R.

iv) ®. 4000 = fafaer seam fsmen foeiean dJafore wetien ageten dewia
TR 3fuT @reR &, 200 = IR,

R Feriwor o 2022-23 61t e ST SeETt TUHET .

gyT4)  us i o o o o, 3R Ireen unie o 2021-22 w5 Wi queiel Sret
faet amea. R o e 2022-23 w0 fFeae wrrh Mo . [16]

e e %. 2,40,000

HERTE T-Hes darean 50%0 (TR |RT)

TRUTE W= %. 12,000
Hea-E WA (amfees @< 6. 10,000) %. 12,000
foreror s %. 6,000
% 78 3ot s ®. 2,400
FrarereaT Hiwd e %. 9,000
AT Ta T (hIVTATE! TTH hedl ATEl) . 6,400
.U UE. 7ed e Wee aeA %. 24,000

off 3T AT g Yedt 371Ut Uk Yowm ST o wesd fIteha orga. oft smm . 2,500
AT TUT HIR T35 WISATAT B Tgd 3.
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gy75) ot wam ae A 31.03.2022 st i auidist et qusite oot stga: [16]

TR TR %. 8,03,000

FagmErd Tw . 1,50,000

TRl TeEede === ©. 3,800

HRAA SHUHTehgA A 6. 5,600 festen

TR WietHRd S €. 15,000

I e R 6. 2,500 anfur wiite . 50,000 e

M T, 3= . difemEdt 5. 10,200 WA, 8. 10,000 Wb uw. \ed S
Het. A9 Bfegn Aieihohened €. 5,000 aae SMfUT Uh.E1.RE Tk AH
sfeamea 5 autardt . 50,000

R Fgior g 2022-23 |idt o Sdie WIS AT TRl hiuTs Ieds U1 L giieardt
UL AT
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Total No. of Questions: 5] SEAT No. :
P6821 [Total No. of Pages: 2
[5801]-756
T.Y.B.Com.
BUSINESSADMINISTRATION
Human Resour ce Development and M arketing
(3411) (2013 Pattern) (Special Paper - 11)

Time: 3Hours] [Max. Marks: 80
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

Q1) What is Job Analysis? Explain theimportance of Job Analysis. [16]
Q2) @ Statevarious methods of employee recruitment. [8]
b) Definetheterm“An Interview”. Explain varioustypesof Interview. [8]

OR
a What is performance appraisal? Explain its process. [8]
b) What are the advantages of market research? [8]
Q3) @ State importance of Product Development. [8]
b) *“Advertising Standard Council of India’ - State the functions of this
council. [8]

OR
a Explainthenew trendsin Retail Marketing. [8]
b) Explainthe employment opportunitiesin advertising. [8]
Q4) State theimportance of advertising in Modern Business. [16]
Q5) Short Notes (Any two): [16]

a Franchises.

b) MobileMarketing.

c) Advantageof Labeling.
d) Succession planning.

> >
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Total No. of Questions: 5]

P6821 [5801]-756

T.Y.B.Com.
BUSINESSADMINISTRATION
Human Resour ce Development and M arketing
(3411) (2013 Pattern) (Special Paper - 11)

(WISt TUTER)
e : 34| [ wsRut 70T : 80

guat:- 1) Hd U AISU STavEeh ST,
2) SEIREA 37k WIS Ui IUT gUifaETa.

¥.1) %t faversor o & ? s favesum vge wnm. [16]
¥.2) 1) e wedten ey ugd . [8]
) HATE A g d YA [ JhR T8 . [8]
femen
)  HETAT JoATeh FEUTS hid 2 TTEl Uishall TR . [8]
q)  foum deieE wrEE @ [8]
¥.3) 21) g foemmam wge @R, [8]
q) SR LEE hiEd Ak S wE o [8]
fepen
HA) e e dandier T6a vae amm. [8]
) A STl ASHTRTEAT Tt hiuTe ? [8]
¥.4) 3ngieh SHaEEwdie Al Heed TR, [16]
¥.5) fewr =0, (siond ) [16]
) gt
q) HEEA HIchieN
&) Guireg wEg

T) IR FEsE
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Total No. of Questions: 5] SEAT No. :

P6822 [Total No. of Pages: 2
[5801]-757

T.Y.B.Com.
BANKINGAND FINANCE
3421 : Financial Marketsand I ngtitutionsin India
(2013 Pattern) (Regular) (Special Paper - 11)

Time: 3Hourg] [Max. Marks: 80
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

Q1) What do you mean by money market? Explain reforms in the Indian money

market after 1991. [16]
Q2) Define the Foreign Exchange market. Explain the participants in foreign
exchange market. [16]

OR

Explain the Regulatory, Intermediary and Non-Intermediary Institutions of
Indian Financial System.

Q3) @) Statethe functions of securities Exchange Board of India [8]
b) State theprogress of Industrial Finance Corporation of India. [8]

OR
a  Distinguish between Bank and Non Banking Financial Institutions. [8]
b) Explaintheroleand objectives of MudraBank. [8]
Q4) Explainthe organisation and functions of Unit Trust of India [16]
Q5) Write short notes (Any Two) [16]

ad BharatiyaMahilaBank
b) LeaseFinance

c) Provident Funds.

d) Venturecapita.

VOOV
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Total No. of Questions: 5]

P6822
[5801]-757

T.Y.B.Com.
BANKINGAND FINANCE
3421 : Financial Marketsand I nstitutionsin India
(2013 Pattern) (Regular) (Special Paper - 11)
(TS |UTR)
o : 34| [ wgot 7701 : 80
guat:- 1) Hd U Aot Sravee ST,
2) STErREIA 3ieh TYATE YUt TUT gifera.
3) TewTETe! Yeb TS TIHURIRT UgTe.

¥.1) ToEeTR gt @ ? 1991 R WA A0SR STeies YLRuT T8 . [16]

¥.2) wiera fafma smeh saremn @ wikes fafaa smrdie @guntt ges e 0. [16]
EE]]
URd foria gumeiidier fHemes, neay st ferr-ueaer Hwen w0 &.

¥.3) 31) R Ut it e we anm. [8]
d) YR SEfies fom AgmEel Wikl |nm. [8]
feRen
1) ok fur Fehr foriier wxen ATl ek T8 . [8]
&) gl skl YiehT ATUT 3 TR, [8]
¥.4) Rt gHie g Taed ST S T8 &, [16]
¥.5) fewt fergn (wioreagt 2M) [16]
) URA Afgen 56
) wreug fomgeaet
&) o Fatg feh

T) UEE Wigad
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Total No. of Questions: 5] SEAT No. :

P6823 [Total No. of Pages: 2
[5801]-758

T.Y.B.Com.
BUSINESSLAWSAND PRACTICES
(2013 Pattern) (Special Paper - 11) (3431)

Time: 3Hourg] [Max. Marks: 80
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

Q1) Define the term Factory. Explain the provisions regarding the safety of the
workers as per The factories Act, 1948. [16]

Q2) Definethewagesasper the payment of wagesAct. State the rulesfor payment
of wages, Responsibilities of payment of wages and wages period as per the
wagesAct, 1936. [16]

OR
Explain the important provisions under the Employees provident Funds and
Miscellaneous provision Act, 1952, [16]

Q3)a What is meant by oppression and mismanagement? state exceptions of
Rule of Mg ority. [8]
b) Explainthe concept of Available surplus as per the BonusAct, 1965.[8]

OR
ad What ismeant by Political Fund of Trade union? State objects on which
political fund of Trade Union may be spent as per the Trade

UnionAct, 1926, [8]

b) State meaning of Inspection and Investigation. State Role of Secretory
regarding inspection and investigation. [8]

Q4) What is meant by social responsibility of company? Explain the social
responsibilities of company as per The Company Act, [16]

Q5) Write short notes (Any Two) [16]

a Certifying sergeen (The FactoriesAct, 1948)

b) Code of Conduct for professionals.

c) Provisions for offences and penalties. (The provident funds &
miscellaneousAct, 1952)

d) Compromise and Arrengement scheme.

VOOV
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Total No. of Questions: 5]

P6823
[5801]-758
T.Y.B.Com.
BUSINESSLAWSAND PRACTICES
(2013 Pattern) (Special Paper - 11) (3431)
(TSt TUTR)
e : 34| [ wgot 70T : 80

guat:- 1) Hd U A ey g,
2) IAIhEI 3ieh YA YU 0T SiferaTa.
3) TEHIHS! G5 SUSH UIUTIhT UgTEl.

¥.1) SR A1 e SRS AT, HREr e, 1948 a8 hRETITder SR
TRETUTIATSIAET ARG T8 . [16]

¥.2) A (AS[{t) SEEATIHR STt SATea 9nT. Jaq sraet, 1936 s gaq (W) <uar

Frem, A quaT= SETEeRt @ aaq UET Hed |nm. [16]
TeRan

wfersa fate feht @ fafae wgdien wrer, 1952 weiet mgaren wgdt @WE &, [16]
¥.3) 31) TeIH U1 INHRAR U 61 ? SgHATSA seared (o suae @, [ 8]

F) W9 e, 1965 JaR UGSy A% § HeheuHT T8 . [8]
e

HA) HIIR T TsTehd el FEUH hidl ? HIHTTR Tee e, 1926 37 TSTehid

feft v SToTETSt T T At A G, [8]

7)  lteror sniur stgEemTn sred EEn. fltetn 3@ srEaHHEHT faeuiar Wi arm.[ 8]

¥.4) o=t S FeTagRt FEUTS Shid ? Ut hAGaTJaR hu=real HHINTh Taragr=
e 0. [16]

g.5) few forgr. (shoreard@ gm) [16]
HA) <TG UR SRS ATRR (FRET==T e, 1948)
d) AEETIREGRET AR g
®) TR 9 SEETEae agal (W fFatgfeh a wgdin s, 1952)
g) dSSiE 3t sHeeen Jie (e =is)
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Total No. of Questions: 5] SEAT No. :

P6824 [5801]-759 [Total No. of Pages: 2

T.Y.B.Com.
3441 : Co- operation and Rural Development - [
(2013 Pattern) (Special Paper - 11) (Regular)

Time: 3Hours] [Max. Marks: 80
Instructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

Q1) What isco-operative management? Explain briefly the principlesof co-operative

management. [16]

Q2) Statethe need and significance of professionalism of management. [16]
OR

State the Recruitment, Training and Managerial Development in Co-operative.

[16]

Q3) @ Statethemeasuresto overcomethe defectsin Co-operative Management.

[8]

b) State the sources of finance in co-operative. [8]
OR
a Write anote on ‘Budget and accounting of Co-operatives. [8]

b) State the operating expenditure and cost control in co-operatives. [8]
Q4) Explain briefly the powers and duties of Co-operative Auditor. [16]

Q5) Answer thefollowing questions. (Any Two). [16]
ad Discussthe various types of Audit.
b) Statethe need of financial control in co-operative.
c) Statethecharacteristicsof financia planning.
d) ExplaintheTrendsin co-operative management in‘Global Scenario’.

VOOQ
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T.Y.B.Com.
3441 : Co- operation and Rural Development - [
(2013 Pattern) (Special Paper - 11) (Regular)

(WSt TUTR)
% 3] [ weguT U : 80

g 1) EdE WA Wil srEvas .
2) SErREA 37k WIS Ui U7 gUifaETa.

Y. 1) Hgehil SASEATIH TEUS e ? HEehil SHeRTIAT a | ¥ . [16]
¥.2) GgehRid STaEUTIATA STEHTRIh! ShiuTe STEeiel TR SATUT Hgwel T8 . [16]
feman

TEHNHLA WA, Tfneron o rerenuh fawm anm. [16]
¥.3) 31) WEhrl SHTEATARIA JMY G AT IUT |, [8]
q) HEHENH ke i w [8]
feman
) EEHERWLC Jerus ST iR Jrer fou forat. [8]
q) HEHERIA gaTeu T STt aRers R |, [8]
Y.4) vgehil 3ichelehTel AR ST Shdsd AieRadul T . [16]
¥.5) @refter ggAr S fotgt. (FRived 2m) [16]

HA) ke fafay yeRRm=T <=l .

) ugwnme fatwa FEsum W W .

%) fatma Feremrh St am.

T) UEHN TERAUHTS e Ferdidiet STfies JaTg T .
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Total No. of Questions: 5] SEAT No. :

P7268 [Total No. of Pages: 4
[5801]-760

T.Y.B.Com.
COSTAND WORKSACCOUNTING
(2013 Pattern) (Regular) (Special Paper - 11) (3451)

Time: 3Hourg] [Max. Marks: 80

Instructions to the candidates:
1) All questions are compulsory.
2) Figuresto theright indicate full marks.
3) Useof calculator is allowed.

Q1) @ Stateweather thefollowing statements are True or False. [5]

I)  Variable overheads do not increase when the volume of production
or output changes.

i)  Injob costing system, a separate job cost sheet is not prepared for
each job for cost accumulation.

i)  Service costing is also called as operating costing.
IV)  Inprocess costing the products are standardized and homogeneous.
v) The balance amount not paid in contract is known as Retention

money.
b) Fillintheblanks: [9]
I)  Contract costing is aso called as
i) IS an aggregate of indirect materials, indirect labours and
indirect expenses.
i) Is aimed to find out the cost of a specific job.

IvV)  The amount of loss which cannot be avoided because of the nature
of material or processis

V) Is a method of ascertaining cost in those undertaking
which provide services.

Q2) Explain various methods of ascertaining cost whichisappliedinindustries.[15]
OR

Definetheterm Overhead' . Explain the classification of overhead in detail.
[15]

PT.O.



Q3) Write short notes (any three) :
Stagesin Activity Based Costing.

a)
b)

c)
d)
€)

Q4) 8

b)

Profit on incomplete contracts
Features of Job Costing
Normal and Abnormal loss
Single and composite cost unit

[15]

In an engineering factory, the following particulars have been extracted

for the month ended 31% December 2019. [15]
Particulars Production Departments | Service Departments
A B C X Y

Direct Wages (Rs.) 30,000 |45,000 60,000 | 15,000 | 30,000
Direct Materids (Rs.)| 15,000 | 30,000 | 30,000 | 22,500 22,500
Staff numbers 1,500 | 2,250 | 2,250 750 75
Electricity 6,000 | 4,500 | 3,000 1,500 1,500
Asset Vaue(Rs) 60,000 | 40,000 |30,000 | 10,000 10,000
Light points 10 16 4 6 4
Area(Square Meter) 150 250 50 50 50
The Expensesfor the periodwereasfollows:

3
Power 1,100
Lighting 200
Storesoverhead 800
Welfare staff 3,000
Depreciation 30,000
Repairs 6,000
General overheads 12,000
Rent and rates 550

Apportion the expenses of service department Y according to Direct Wagesand
those of service department X intheratio 5:3:2 to the production departments.

You arerequired to prepare an overhead Distribution Summary.

From thefollowing figures cal cul ate the amount of notional profit to be credited
to Profit and L oss account.

Contract price Rs. 2,00,000

Work certified Rs. 1,43,000

Cashreceived Rs. 1,30,000

Notional profit Rs. 18,150
2
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Q5) @ JK Builder took a contract on 1% April 2018. The contract price was
agreed a Rs. 4,00,000. The contractor has madethefollowing expenditure

during the year. [10]
3
Materids 25,000
Direct labour 15,000
Plant 40,000
Direct expenses 10,000
Value of plant (31.03.2019) 30,000
Stock of materials (31.03.2019) 5,000
Materialsreturned to stores 1,000
Work Certified 75,000
Cash received 70,000
Cost of work uncertified 4,000

You are required to prepare a contract account and contractee’s account
for the year ended 31 March 2019.

b) A product passes through three processes A, B and C. The normal
wastage of each processis as follows : [10]

Process A - 3%
Process B - 5%
Process C - 8 %

Wastage of process A was sold at 25 paise per unit, that of Process B at
50 paise per unit and that of process C at Re. 1 per unit.

10,000 Units were issued to process A on 1.1.2018 at a cost Re. 1 per
unit. The other costs were as follows :

Process A Process B Process C

3 3 3
Materids 1,000 1,500 500
L abour 5,000 8,000 6,500
Direct expenses 1,050 1,188 2,009
Actual output in units 9,500 9,100 8,100

Prepare the process accounts, assuming that there was no opening and
closing stocks.

OR
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A transport company operates two trucks. The following is the data

related to the monthly cost of operating them : [10]
Particulars Truck A Truck B
®) ®)
Driver'sSalaries 250 275
Cleanerswages 150 160
Petrol 300 350
Mobil oil 25 30
Garagerent 125 125
Taxes and insurance 50 50
Depreciation 560 620
Expenses of supervision 100 100
Repairs 120 140
Overheads 40 40

Two trucks carried 150 tonnes of goods each during the month of
November 2019. The distances covered were A-3500 km and B-5000
km respectively. Prepare an operating cost sheet for the month of
November 2019 from the above data.

VOOV
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Total No. of Questions4] SEAT No. :

P6825 [ 5801] 761 [Total No. of Pages: 3

T.Y.B.Com.
3461 : BUSINESSSTATISTICS
(2013 Pattern) (Special Paper - 11)

Time: 3Hourg] [Max. Marks: 80
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

3) Useof calculator and statistical tables is allowed.

Q1) Attempt any five of the following. [2 each]
a) State three axioms of probability.

b) If *C, =3003. Find the value of “C..

c) Define expectation and variance of discrete random variable.

d) Suppose A and B are independent events with P(A) = 0.4 and
P(B) = 0.3. Find P(A n B) and P(A")

e) Given any two real life situations where binomial distribution.

f) A coinis tossed 18 times and following sequence of heads (H) and tails

(T) 1s obtained as HHTHHHTTTTHHTHHTHT. Find the number of
runs.

Q2) Attempt any four of the following. [5 each]

a) From a group of 3 Indians, 4 Japanese and 5 Americans a sub-committee
of four people is selected by lots. Find the probability that the
sub-committee will consist of

1) 2 Indians and 2 Japanese
i) 1 Indian, 1 Japanese and 2 Americans
b) Arandom variable X has the following probability distribution
X 0 1 2 |3 4
P(X)| 3/16| 4/16| 7/16| 1/16| 1/16

) PX>2)

i)  Find the value of mean and variance of X.

PT.O.



c) Define the following terms.
1)  Hypothesis
i)  Null hypothesis
) Type I error
iv) Type II error
v) Level of significance

d) The following data represent the number of hours that a rechargeable
hedge trimmer operates before a recharge is required: 1.5, 2.2, 0.9, 1.3,
2.0,1.6,1.8,1.5,2.0,1.2,1.7. Use sign test at 5% l.o.s. to test hypothesis
that this particular trimmer operates with a median of 1.8 hours before
requiring a recharge.

e) Inanexperiment on immunization of cattle from tuberculosis the following
results were obtained.

Affected Unaffected
Vaccinated 12 28
Not Vaccinated 13 07
Use 5% level of significance and test the hypothesis that Controlling the
incidence of the disease is depend on vaccine.
Q3) Attempt any two of the following: [10 each]

a) IfXandY areindependent Poisson random variables with mean 1 and 3
respectively find
) P[X+Y) < 5]
i) P[X+Y) > 7]
[Givene*=0.018315638]

b) The information about the sample drawn from two independent normal
populations is given below
n=9 n=7) X=198 > yi=241) xi’=4476 ) yi’=8431
Test whether the two population have same variance use 2% l.o.s.

c) For a certain normal distribution exactly 8% of items are below 40 and

90% of items are below 60. Find the mean and standard deviations of
the distribution.

[5801]-761 2



d) 1) Describe the test procedure of equality of two population
proportions.

1)) Memory capacity of 10 students was tested before and after training.
State whether the training was effective or not from the following
scores:

Roll No. 1 2 3 4 5 6 7 8 9 10

Before training 12 14 11 8 7 10 3 0 5 6

Aftertraining 15 16 10 7 5 12 10 2 3 8

Use 5% level of significance.

Q4) Attempt any two of the following: [15 each]
a) 1)  Define Normal distribution. Also write down four properties of
Normal distribution.

i) The weekly wages of 1000 workers are normally distributed with
mean of Rs. 55 and S.D. of Rs. 5. Estimate the number of workers
whose weekly wages will be
1) Less than Rs. 48.

2) Between Rs. 50 & Rs. 58
b) Two fair dice are thrown. Let X denote the absolute difference between
the two scores and Y denote the maximum of two scores.

1)  Derive the joint probability distribution of (X, Y).

i)  Also obtain marginal distribution of X and Y

c) 1)  Ofthethree events A,B,C; A and B are mutually exclusive; A and C

are independent; B and C are mutually exclusive. If P(A)=1/4,
P(B)=1/3, P(C) = 1/6,

Find 1) P(A (1 B) 2)P(AUB) 3)P(AUBUC)

1)  Certain pesticide is packed into bags by a machine. A random sample
of 10 bags is drawn and their weights (in kg) are found as follows:

50, 49, 52, 44, 45, 48, 46, 45, 49, 45.
Test if the average weight of a bag can be taken as 50kg.

& B ¥
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Total No. of Questions: 5] SEAT No. :

P6826 [5801]-762 [Total No. of Pages: 2

T.Y.B.Com.
BUSINESSPRACTICES: BUSINESSENTREPRENEURSHIP
(2013 Pattern) (Special Paper - 11) (Regular) (3471)

Time: 3Hours] [Max. Marks: 80
I nstructions to the candidates:

1) All questions are compulsory.

2) All questions carry equal marks.

Q1) Definesmall industries. What are problemsfaced by small scale Industriesin

India [16]
Q2) What isRatio Analysis? Explain thetypes of Ratio Analysis. [16]
OR
What is‘Business Plan’ ? Explain the objectives and |mportance of Business
plan.
Q3) @ Explainthe Financial and Marketing aspects of business plan. [8]
b) Functions of small Industries Development Bank of India. [8]
OR
a Explanthefunctionsof Industrial Finance Corporation of India(IFCl).[§]
b) Discusscresativity and Innovation. [8]

Q4) What isBusiness crisis? Explain different types of Businesscrisis. [16]

Q5) Write short notes on Any Two. [16]
ad Guidelinesfor preparing aBBusiness plan.
b) Break EvenAnaysis.
c) Commercia Banks.
d) Document required for registration of small scale Industries.

VOOV
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Total No. of Questions: 5]

P6826 [5801]-762

T.Y.B.Com.
BUSINESSPRACTICES: BUSINESSENTREPRENEURSHIP
(2013 Pattern) (Special Paper - 11) (Regular) (3471)

(TS EUTR)

% : 34| [ wsgut 70T : 80
gl : 1) o gy A ST,

2) TE YT THH 0T A

3 TEHIHS! Yeb SUST UIUTIh! UgTEl.

Y. 1) FESERT= S GRT. HRATE TESTnTIEet S di. [16]
¥.2) i favemor (Ratio Analysis) wgurat s ? TuiR faverome fafas ger @im.[16]
fepen

‘HTETE ANEET U i ? ST NG 3 9 A WE &
¥.3) 31) aEiie dNEsr foxita 3 fauum o] e . [8]
q) AR e e St W, [8]
fepen
HA) WRAE e foniT agree! &l faee = [8]
F) AT ST ASRIqUTAT ATaR T . [8]
¥.4) Saada e o e ? aEE AREr fafay yer e w10, [16]
g.5) few forgr. (shoreard@ gm) [16]

) AEEE FANES TR AT ARIGIHTER T
q) Sk 3o I,

®) TAUR .
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Total No. of Questions : 5] SEAT No. :

P6827 [Total No. of Pages : 2
[5801]-763

T.Y. B.Com.
3481 : MARKETING MANAGEMENT
(2013 Pattern) (Special Paper - 11) (Regular)

Time: 3Hourg| [Max. Marks: 80
I nstructions to the candidates:

1) All question are compulsory.

2) Figuresto the right indicate full marks.

Q1) Define the term Marketing Planning? Explain Importance and Elements of
Marketing Plan. [16]

02) Explain the Social Responsibility of Marketing Manager. [16]
OR
Define the term Marketing Organisation? Explain the changing role of
Marketing Organisation.

03) a) Write the Advantages of Benchmarking. [8]
b) What are the features of Agricultural Products? [8]
OR
a) Write a note on ‘Marketing Strategy’. [8]
b) Explain the Importance of Marketing Regulations. [8]

Q4) What is mean by International Marketing? Explain the need of International
Marketing. [16]

Q5) Write short notes on (Any Two) : [16]
a) Consumer Protection Act - 1986.
b) Marketing in 21* Century.
c¢) Indian Patent (Amendment) Act - 2005.
d) Impact of Globalisation on Marketing.

F6d836
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Total No. of Questions: 5]

P6827 [5801]-763
T.Y. B.Com.
3481 : MARKETING MANAGEMENT
(forao= =Z=aE2mq)
(2013 Pattern) (Special Paper - 11) (Regular)
(TSt TUTaR)
de ;3 ard | [ Tepor 7707 : 80
g 1) wd uya sifar enga.
2) SIS 37k YA YT T[0T EifeT.
3) HeWiHS e SUS U9 Ul Ugret.

o 1) oo s o deeht samea ann ¢ fouum e agea st gew wag w10.[16]
v 2)  fouum sawumaeRTe AT SaTEe=an T . [16]
et
forum e sarEm m ? [quuE SeeAT St WiHERT T .

99 3) 1) wuee fFuRvme wae @ (Benchmarking) [8]

) FH IeareT= AT} R ? [8]
e
)  fooum sgreE - S forat. [8]
) fauom e g e« [8]
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¥ 5) odigwm w forgn (Furerd am) ¢ [16]
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Total No. of Questions: 5] SEAT No. :

P6828 [Total No. of Pages: 4
[5801]-764

T.Y. B.Com.
AGRICULTURAL AND INDUSTRIAL ECONOMICS
(2013 Pattern) (Special Paper - I1) (3491)

Time: 3Hourg| [Max. Marks: 80
I nstructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Criticaly examine the role of MGNREGA in solving the problem of rural
unemploymentin India [16]

Q2) Describetherole of agriculturein Indian Economy. [16]
OR

State problems of agriculture processing in India. Explain the measures to
solve these problems. [16]

Q3) @ Giveabrief highlightsof Industrial growth since 1991 in India. [8]
b) Explaintheprogressof power generation Industry in Indiasince 1991.[ 8]

OR
ad Describethe problemsof Industrial financein India [8]
b) Explaininbrief socia security and welfare measuresin India. [8]

Q4) Explaintheargumentsfor and against the privatization of public enterprisesin
India [16]

PT.O.



Q5) Write a Short Notes on (any two) : [16]
d Roleof Industrial finance corporation of Indiain Industrial finance.
b) Roleof small scaleindustry.
c) Pattern of ownership of Indian Industries.

d) Government wage policy.

PP ir
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Total No. of Questions: 5]

P6828

[5801]-764
T.Y. B.Com.

AGRICULTURAL AND INDUSTRIAL ECONOMICS

(2013 Pattern) (Special Paper - I1) (3491)

(WS TUTR)
de : 3 ] [ TegoT 7707 : 80
gaar: 1) @ 999 |l sravas I
2) IdtREieT 37k g9 YUt o7 gifaara.
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E N [16]
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U . [16]
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[16]
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Total No. of Questions : 6] SEAT No. :

P6829 [Total No. of Pages : 4

[5801]-768
T.Y. B.Com.
BUSINESS ADMINISTRATION - 111
Finance, Production & Operating Functions
(2013 Pattern) (Paper - I11) (Regular) (3413)

Time: 3Hoursg| [Max. Marks: 80
I nstructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Explain the advantages and disadvantages of product - Layout. [14]

Q2) What is 'Over - Capitalisation'? Explain the causes and effects of Over -
Capitalisation. [14]

OR

What is 'Production Control'? Explain the objectives and techniques of
Production Control.

Q3) @ Statethe features of Equity shares. [7]
b) Statethelimitationsof preference shares. [7]
OR

a State the Advantages of Preference shares.
b) Statethe features of Debentures.

Q4) Defineword 'Money'. Explain the functions of Money. [14]

PT.O.



Q5) Write short notes on (Any two) : [14]
a) Types of Production scheduling.
b) Inventory Management.
c) Need of Finance.

d) Limitationsof Financial Planning.

Q6) State the Employment opportunitiesfor youngster towards Make - in - India.
[10]

PP ir
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P6829 [5801]-768
T.Y. B.Com.
BUSINESS ADMINISTRATION - 111
Finance, Production & Operating Functions
(2013 Pattern) (Paper - I11) (Regular) (3413)

(WIS EUTR)

3e : 3 ard) [T 7707 - 80
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gy 2)  SATU-HISTEIehTuT TEUTH e 2 (S —HISaell ShiuTret ShRUl & URUTH T8 . [ 14]
e
‘FeareA T U S ? Seaten e SEEy 9 99 TR 6.

gvq 3) 1) E WETN Sfvres) wE . [7]
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Total No. of Questions: 6] SEAT No. :

P6830 [Total No. of Pages: 4

[5801]-769
T.Y. B.Com. (Regular)
3423 : BANKING AND FINANCE
Banking Law and Practice In India
(Special Paper-111)(2013 Pattern)

Time: 3Hoursg| [Max. Marks: 80
I nstructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Explain the provisions in Banking Regulation Act 1949 Regarding capital
Licensing and Liquidation. [14]

Q2) DefineNegotiablelnstruments. Explainin Detail typesof Negotiable Instruments.

[14]
OR
Explain the principles of secured Advances. [14]
Q3) @ Explainthe statutory protection to paying Banker. [7]
b) StatetheDutiesof collecting Banker. [7]
OR

a ExplainthetypesMortagage.
d) ExplaintheBanker lien.

Q4) Explain In detail the legal and Non legal measures for Recovery of Banks
loans. [14]

P.T.O.



Q5) Write short notes on (Any two)

a)
b)
c)
d)

Q6) Discuss the Recent changes in Banking sectors.

Economical Aspects of project Appraisal.
Duties of paying Banker.
Dishonour of cheque

Relationship of Debtor and Creditor.

Q000
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P6830
[5801]-769
T.Y. B.Com. (Regular)
3423 : BANKING AND FINANCE
Banking Law and Practice In India
(Special Paper-111)(2013 Pattern)
(TS EUTR)
g . 3 amM] [ Tegor 707 : 80
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gga4) S agel S wEeiR Nt R SRR U e . [14]
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P6831 [Total No. of Pages: 4
[5801]-770
T.Y.B.Com.
BUSINESSLAWS& PRACTICES- 11

(2013 Pattern) (Special Paper - 111) (3433)
Time: 3Hoursg| [Max. Marks: 80
I nstructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) What is Central Excise? Explain the procedure of registration under central
ExciseAct. [16]

Q2) Definetheterm‘Company Secretary’. Explain therequired qualification for a
company secretary. Explain duties & rights of Company Secretary. [16]

OR

Explain the registration of Service Tax. State Types of Assessment of Service
Tax.

Q3) @ Definethe’TransactionVaue . Explaintheitemsincluded inthetransaction
value. [8]

b) From the following details compute ‘ CST’ payable by a dealer carrying
on business in Mumbai, whose turnover for this year is Rs. 22,00,000.
Whichincludesthefollowing - [8]

Rs.
I)  Trade commission for which credit notes have to 50,000
be issued separately.
i)  Installation charges. 40,000
i) Exciseduty. 30,000

PT.O.



Iv)  Freight, insurance and transport charges recovered

separately ininvoice. 45,000
v)  Goods returned by dealer within Six Months of Sales
but after the end of the year. 40,000

vi) Central SalesTax is2%

Buyersissued ‘C’ forms for all purchases.

OR
Define theterm ‘ Trade Mark’. Explain the procedure of registration of Trade
Mark. Explainin brief infringement of trade marks. [16]

Q4) Explain the term Deposits. What are the rules for accepting deposits and
repayment of deposits. [16]

OR

Explain Statutory Provisionsregarding Borrowings and security for borrowings.
State methods of borrowings.

Q5) Write short notes on (Any Two) : [16]
a Duties& Rightsof an Auditor of Company.
b) Surrender of Patent.
c) Disgtinction between Interest & dividend.
d) Scope of Customs Duty Act.

® % %
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[5801]-770
T.Y.B.Com.
BUSINESSLAWS& PRACTICES- 111
(2013 Pattern) (Special Paper - 111) (3433)
(TSt EUTR)
[wor o1 - 80
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P6832 [Total No. of Pages: 4
[5801]-771

T.Y. B.Com.
CO-OPERATION AND RURAL DEVELOPMENT - 111
(2013 Pattern) (Paper - I11) (Regular) (3443)

Time: 3Hourg| [Max. Marks: 80
I nstructions to the candidates:

1) All questions are compulsory.

2) Figurestotheright indicate full marks.

Q1) What is co-operative marketing? State briefly the classification (types) of
markets. [14]

02) Define consumer co-operatives. Explain the need and importance of consumer
co-operatives. [14]

OR

Define Marketing Research. State the scope and steps in Marketing Research.

03) a) Write a short Note on cotton processing. [7]
b) State the functions of NAFED. [7]

OR
a) State the organisational set up of APMC. [7]

b) State the objectives of Agriculture produce market (Regulation) Act
1963. [7]

04) State the objectives and Basic features of Agriculture produce market
(Development and Regulation) Act. 2003 (Model Act). [14]
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05) Answer the following questions (Any Two) : [14]

a)
b)
c)
d)

Explain the structure of co-operative marketing.
State the Role of Agriculture cost and price commission.
State the strategy for Exporting Agriculture produce.

State the Background for Enactment of Agriculture produce market
(Regulation) Act 1963.

06) State the mechanism of minimum support price by Agriculture cost and
price commission. [10]

Ooon
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[Total No. of Pages : 4

[5801]-772
T.Y. B.Com.

COST AND WORKS ACCOUNTING (Special Paper - III)

Time : 3 Hours]

Costing Techniques and Cost Audit
(2013 Pattern) (Regular) (3453)

[Max. Marks : 80

Instructions to the candidates:

1)
2)
3)

Q1) a)

b)

All questions are compulsory.
Figures to the right indicate full marks.
Use of calculator is allowed.

Fill in the blanks (Any Five) [5]

1)  Profit-volume Ratio expresses the relationship between and
sales.

i) A Budgetisa statement which incorporates the policy
of the management.

1i1) 1s the process of collecting and interpreting information to

1v)

V)

vi)

determine how farming activities earns and uses funds.
appointment is not compulsory for all companies except

in case of companies carrying on manufacturing processing or mining

business.

Idle time variance shows the impact of time :

The cost auditor must be a member of the holding a

certificate of practice.

State whether the following statement are True or False (Any Five). [5]

Margin of safety can be improved by lowering the volume of sales.

The cost Auditor will have the right to receive remuneration for the
work for the company.

The work of cost auditor and financial auditor are not interrelated.
Those variances which decrease the standard profit are termed
favourable variances.

The financial audit report certifies the true and fair view of cost of
production of the manufacturing company.

Uniform cost manual is very important document for successful
installation and operation of uniform costing system.
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(2) What do you mean by ‘MIS’? What are its advantages and objectives? [15]

OR

Explain the term ‘Uniform Costing’ State the important requisites for the
installation of a uniform costing systems and also state the advantages.

(Q3) Write short notes on (Any Three) [15]

a)
b)
C)
d)
€)

04) a)

Advantages of Interfirm comparison.

Distinction between statutory Financial Auditor and Cost Auditor.
Scope of Cost Audit.

Qualification and Disqualification of a Cost Auditor.

Key factor - A limiting factor.

Sudarshan Co. Satara is engaged in manufacturing full scope note books
is working currently at 40% capacity & produces 10000 note books per
month. The cost & price details for one note book is as under :  [15]

Particulars Cost per unit (Rs.)

On cost (40% variable) 5.00

Productive Expenses 1.00

Direct labour cost 2.00

Basic Material cost 10.00

Market Price 20.00
You are required to prepare a flexible Budget showing separately the
profit at 50% & 90% capacity and the break even points at the production
capacity level assuring that
1)  at 50% capacity level the invoice price falls by 3% &
i) at 90% capacity the selling price falls by 5% accompanied by a

similar fall inthe price of Direct Material.
OR
The turnover (sales) and profit during the two periods were as follows :
[15]

Period Turnover Profit
(Rs.inlakh)  (Rs. inlakh)
I 60 6
II 90 12
Assuming that the cost structure and selling prices remains the same in
the two periods.
Calculate :
1)  P/V Ratio
i) BEP (sales)
i) The sales required to earn a profit of Rs. 15 lakhs.
1v) Margin of safety in period - II.
v)  Profit when sales are Rs. 75 lakhs.
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b) The standard time for unit component Y are given below. [5]

Standard hours per unit 30 Hours
Standard rate Rs. 8 per hour
The actual data and related information are as under
Actual production 1000 units
Actual hours 30, 600 hours
Actual rate 7.80 per hour
Calculate :

1)  Labour cost variance
i)  Labour Efficiency variance and
i) Labour Rate variance

05) a) From the following information calculate : [10]
1)  Material Cost Variance
1)  Material Price Variance
i) Material Usage Variance
iv) Material Mix Variance

Material Standard Mix Actual Mix
X 105 kgs @ Rs. 3 per kg. 90 kgs. @ Rs. 3 per kg.
Y 45 kgs @ Rs. 6 per kg. 75 kgs @ 7.5 per kg.
b) In Radhikas Industries, Pune the budgeted labour force employed in a
welding process is as follows. [10]

. Un-skilled labour force :
300 workers @ Rs. 5 per hour for 60 hours.
. Semi-skilled labour force :

450 workers @ Rs. 6 per hour for 75 hours. The actual labour
force during a particular period was as follows:

e Un-skilled labour force :
265 workers @ Rs. 4 per hour for 60 hours.
e Semi-skilled labour force :
400 workers @ Rs. 7 per hour for 60 hours.
Compute the following labour variances
1)  Labour Cost Variance
i) Labour Rate Variance and
i) Labour Efficiency Variance
OR
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b) From the following farm Financial Account prepare the cost Accounting

statement of Arjun farms for the financial year 2018-19. [10]
Sr. No. Particulars Amt. (%)
1. Sales :
Dairy milk 1,52,500
Live stock cows 1,85,785
Total 3,38,285
2. Opening valuation :
Dairy milk 33,458
Live stock cows 40,508
3. Purchases :
Dairy milk 18,150
Live stock cows 4,545
4. Closing valuation :
Dairy milk 34,850
Live stock cows 4,845
Cost sales 1,36,356
Gross profit 2,01,929
5. Crop Expenses :
Labour 63,450
Concentrate 12,500
Other Expenses 2,085
6. Live Stock Expenses :
Medicines 3,015
Labour 8,500
Dairy Expenses 14,850
7. General Expenses 21,520
8. Wages 74,574
Total Expenses 2,00,494
Net Profit 1,435
63636
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Total No. of Questions : 4] SEAT No. :

P6833 [Total No. of Pages : 4
[5801]-773

T.Y. B.Com.
3463 : BUSINESS STATISTICS - 111
(2013 Pattern) (Special Paper - 111)

Time: 3Hourg| [Max. Marks: 80
I nstructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Use of statistical tables and calculator is allowed.

Q1) Attempt any five of thefollowing: [10]
ad  Obtain the saddle point for the following game :
FirmyY
: 12 -7
FrmX
-6 14
b) State the condition that cost function can be determined as maximum
function.

c) State whether each of the statement given below istrue or false:
1) Inqueuingtheory, number of arrivals follows poisson distribution.
ii) PERT isdeterministic model

d) Explantheterm 'Optimistic time' in PERT.

e) Explaintheterm assignable causeswith anillustration.

f)  Statethedistributions of no. of arrivals and inter arrival time in queuing

theory.
Q2) Attempt any four of thefollowing : [20]
a Solvethefollowing game:
Player B
12 -8 -2
PlayerA| 6 7 3
-10 -6 2
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b) Explainthefollowingterms:
)  Specificationlimits
i)  Process capability index
i)  Tolerancelimits

c) If C(x) =50x?+ 3000x + 43750 is the manufacturer'stotal cost equation,
find the:

) average cost
i)  fixed cost

i) variable cost
IvV) marginal cost

d) For the following pay-off table find the optimal strategy by Maximax,
Maximin, Laplace Criterion and Hurwicz Criterion (o = 0.7)

demand— N, N, N, N,
Stock 4

Sl 20 12 25 5

S, 10| 8 | 10| 15

S, 9 | 2| 21| 2

e) State advantages and disadvantages of simulation.

Q3) Attempt any two of thefollowing :
a 1) Statethe purpose of replacement problem. [2]

i)  An equipment of the cost Rs. 16000 has to be replaced with new
equipment. Thefollowing data have been estimated. Determinethe
optimum period of replacement. [8]

Year 1 2 3 4 5 6 7 8
maintenance| 500 | 900 | 1000 | 1400 | 2100 | 3000 | 5000 | 6500
Resale 15000| 9000 | 7500 | 5500 | 4200 | 3800 | 2900 | 2000

vaue
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b)

d)

Customer arrive at a certain petrol pump in Pune in a Poisson process
with an average time of 5 minutes between arrivals. The time intervals
between servicesat the petrol pump follows exponential distribution and
the mean time taken to serviceavehicleis2 minutes. Find : [10]

1)  Probability that pumpisidle.

i)  What would be expected queue length?

i)  What is expected length of the system?

Iv)  What would be average waiting timein the queue?

v) Obtain average time spent by a customer in the system.

The following table gives the activities in a project and other relevant
information: [10]

Activity | 1-2 2-3 2-4 35 4-5 56
Duration | 4 2 5 3 6 2

Find earliest start, earliest finish, latest start, latest finish, total float, free
float and independent float for each activity. Also find aritical path.

Ten samples each of size 50 of apipewereinspected in pressuretesting.
Theresult of theinspection are givenbelow : [10]

Sample 1 2 3 4 5 6 7 8 9 | 10

Defective | 2 3 2 0 2 3 2 1 2 3
items

Draw p chart and state your conclusion.

Q4) Attempt any two of the following : [30]

a)

b)

The demand for cake in the bakery shop may be 20, 21, 22, 23 with
probabilities 0.1, 0.3, 0.5, 0.1 respectively. Making cost and seling price
of one cakeis Rs. 5 and Rs. 10 respectively. Balance cake is treated as
waste. Write the pay of matrix for the given situation. Also prepare
opportunity losstable. how much cake should hemake using EOL criteria?
Verify that the optimal strategy obtained by EMV and EOL criterion is
same?

The following data on the basis of fuses sample of 5 being taken every
hour :

Sample| 1 2 3 4 5 6 7 8 9 10
No.

Mean (701|614 | 57 | 60 | 554 | 8 | 81 | 334 | 47 |1114

Range |40 | 48 | 65 | 41 | 32 |8 | /8| 4 | /0| &
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Construct control charts for mean and range. Also comment on whether
the process seems to be control. (n=5, A,=0.577, D=0, D =2.115)

A project hasthefollowing activities and other characteristics:

C) Activity Time Estimates

t, t, t
1-2 5 20 6
1-3 6 15 12
2-4 10 25 12
35 6 5 6
3-6 12 45 25
4-5 1 40 30
56 15 50 32

1)  Draw the project network and calculate the length and variance of
thecritical path.

i)  What is the probability that project will be completed within 85
days?

ofo ofe ol
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Total No. of Questions : 6] SEAT No. :

P6834 [Total No. of Pages : 2
[5801]-774

T.Y. B.Com.
BUSINESS ENTREPRENEURSHIP
(2013 Pattern) (Paper - I1I) (3473)

Time: 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Define the term ‘organisational Behaviour’. Explain any two models of

organisational Behaviour. [14]
Q2) Define the term ‘personality’. What are its determinants. [14]
OR
Write a detailed note on Entrepreneurial personality of DR. Nilkantha Kalyani.
[14]
03) a) Write a detail note on ‘Group size’. [7]
b) Explain the classification of formal group. [7]
OR
a)  Write a note on ‘Management by objectives. [7]
b) Why do employees resist to changes. [7]
(Q4) Narrate the sources of stress. [14]
Q5) Write a short notes on. (Any Two) [14]

a) Influence in Group.

b) Employee Involvement programme.
c) Need of Motivation.

d) Group Cohension.

(06) Being Senior Manager of a manufacturing firm, how will you manage the
conflict? [10]

BB H
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T.Y. B.Com.
BUSINESS ENTREPRENEURSHIP
(2013 Pattern) (Paper - I1I) (3473)
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Total No. of Questions : 6] SEAT No. :

P6835 [5801]-775 [Total No. of Pages : 2

T.Y.B.Com.
3483 : MARKETING MANAGEMENT - I11

(2013 Pattern) (Special Paper - III) (Regular)

Time: 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Give the Meaning & Definition of Advertising. Describe the functions of

Advertising. [14]

02) Explain in detail different Appeals & their significance in advertising.  [14]
OR

Define Branding. Explain in detail the advantages of Branding. [14]

03) a) Explain the types of Industrial Goods. [7]

b) Explain the types of E-advertising. [7]
OR

a) Explain the scope of marketing Research. [7]

b) Explain the functions of warehousing. [7]

04) What is Marketing Research? Explain the process of Marketing Research in
detail. [14]

Q5) Write short notes on. (Any Two) [14]
a) Types of Data.
b) Marketing control.
c) Factors affecting transportation costs.
d) Target Marketing strategies.

06) What is Marketing Audit? Explain the methods and process of Marketing
Audit. [10]
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P6836 [5801]-776 [Total No. of Pages : 2

T.Y.B.Com.
AGRICULTURALAND INDUSTRIALECONOMICS

(3493) (2013 Pattern) (Special Paper - I1I)

Time: 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Evaluate the role of NABARD in rural credit since 1991. [14]

02) Describe the progress and problems of dairy co-operatives in Maharashtra

since 1991. [14]
OR

Explain in brief the various rural development programmes implemented by

govt. of India since 1991. [14]

Q3) a) State the causes of imbalanced regional industrial development in India.[7]

b) Explain the role of SEZ in industrial development. [7]
OR

a) State the major features of Industrial policy - 1991. [7]

b) Explain the disadvantages of multinational corporations. [7]

Q4) Evaluate the role of public sector investment in Infrastructural development in
India. [14]

05) Write a short Notes. [14]
a) Features of multinational corporations.

b) Government and Regional Industrial development.

Q6) State the main features of poultry cooperatives in your district. [10]
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